R Abotract Bangclh Space

A Bonach Sooce 15
Space H wWiHA & norm I
O 181 = ¢ 1 L=o0

@ UNPU = (NTUL reC , [ e

@ |l£+9|| ﬁ”.pl[-l—”9|| V_C,SQ/H

such Hhat H o complete

d(.[',g):: Hf—SH
induced bg Hhe normg

'5\? —W)e -pU\IﬂC‘I"JOV\o

o_\:’Hx’H——>’H ) O\C.P,Q)::_P-I—S
S:CxH—-H - 8 (ol = AT

ntH = IR )z

ore continnuoy o .

S pooo'llo|c-' Novinvio2 o /H?‘/H and

o Comro!e;; lnhear

s ot of\g'fng

" ‘H/'\e Metr ¢

C x H



®
HF,gylh= 0l 4+ 1gl andl

NSO NN PN TN AT
ﬁ D‘IFECJFed Se-i-g qmd '\l€+9

— A divected set A

15 o ‘oar%ally

orclere c set  such Haat Lor each loo\'lr_

oty BeA Ty e A such that o> 4 an g

-
— A net s o Lanction

X = N on o directed oet A

{ Py

i - (il 4
<ean oncther ~Noy o write

) ]:f A:,N ; ‘Hf)E‘V\ (xlﬂ)

neN 2 &

Seﬁuence.

—) 1 Seneral,ome V\nay uoe A=11R

oV

o\m& set o.c ~nu el (arger cardfnaf]tg_



—7 [,E o - £ A "+o|c>olC)9-|Ca\

"

S“OOCE

then e Say Hrot N4« "Converseg"

0 Some ANe X | f Lor eoclh

lne'lghbo'r%ood U of X 3
SU\C(/\ Hf'\a+

el €4
No €U whenever X Z Xy -

— [Qecall - Al ()(,d)

v o \r\nd—h &

spoce Hﬂen O SeCLUQV\Ce (’\“)nen\n

COV\\!e(‘Seo >\n““‘—’ /\ 0> N—7 a0 '\_C

for eaclhh nbd. U o.f>\ 2 N elN
suelri Haal

/\m €|?>1/N(,\):§X9KZO\(X,>\)<$§

c U wlhenever n > N .

" '.1/‘\’ . : /\ﬂ
; >
f . T8¢ vy w $l @ 8 W »
L



@
) IV\ \v\eﬁ—r.c SPCACQO we '/')O\\/e .

o“CouV'\'|‘alo(?" lbaoe o_f O e oets

ot eaoclh 'oo'lvw'lr_

—)

In genera fopological spoces Hnis

) 1] i \
= Not true " _ So wWe Nneed converg-

- ent neto’ to describe fhe +o,oo|09y_

Definition « A et (1(’.,(\0‘“ M a Qonaclh

SPoace X » oo Cauclh net " 'u_f

Vero 3 ot.eA st Bhig ol bl

— 7 H‘PC’(|—'PO(1“ < £

propoo'lﬂo\ﬂ 1-2¢ 1n & Goﬂoc% 2lPace H

G_O\CV\ CO«UCV)y V\e+ ]p Comvergemd-.

Proof - L Wolwer €4 b o Couc:lny

net .

—> Choooe <1 €A such thot K 2 Ay



®
— “-pol"'-roig_n(i

N
— Induc-ﬁ\le'g ; %ov'n\ﬂ9 chooen (oim)u___i

CA A y WwWe C‘/'toooe HKntq 2 hw 9.+
1

O<3C>(n+1 — H 'Co( & '[’dn-i-j” < =
b g

— Since 1, comtolef'e 2 L o

ey Pao= B _

VN —) e

— We want fo prove g4 il s

converges +o _f As G hnet:

-l'”’V‘ 'Cp( = L.

o €A

— Q'ven €50 , choovone NnelN st

S =

¢ _g_ an d | -Coln‘-?” < E:/2 ~



—7 __l-\r-')e\n .Qor A2 Ay we lhgve

W0 =L < 1P = Lot Il 4+ 11 Potn- L1l

¢l 1 e e g
N 2



